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5.31 When investment increase by 1 vnpt , output will increase by 2.5 .

When government spending increase by 1 vnpt , output will increase by 2.5 .

When tax increase by 1 unit , output will increase by 1.75 .

When government spending and tax are increase by 1 unit , output will increase by 0.75
.
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The purpose of an automatic stabilizer is to decrease economic fluctuations
.

When the economy is bad , government need to reduce taxes and imports to raise

people 's income so they can spend more money , which would help the

economy grow .

When the economy is good , government need to raise taxes and imports that will
reduce income

.
Therefore

, individuals will spend less in order to

slow down the economy.
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The saving is increase by 100 & The output is decrease by 200
.


